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4% 100D = 1x10° =
1x107) = 1003 =
526,7+ 107 = 1009 =
1002 = 1003 =
1x 100" = 843,2 x 1001 =
8 x 10 = 1002 =
587,4 x 1001 = 808,4+ 1001 =
1072 = 785,5+ 1077 =
583,5 x 10 = 1004 =
676,7 + 107 = 1002 =
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4x 107" =04

1 x 1072 = 0.001
526,7+ 107 = 526700
1072 = 0.01

1x 107V =0.1

8 x 10 = 80

587,4 x 100" = 58.74
1072 = 0.01

583,5 x 1007 = 0.5835

676,7 107 = 676700

dagnll

—1x10°=-1

107 = 0.001

10 = 0.0001

107 = 0.001

843,2 x 107" = 84.32
1072 = 0.01

8084+ 100" = 8084
785,5+ 100 = 785500
10 = 0.0001

1002 = 0.01
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